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Abstract: This paper discusses the potential effects of the EU Common Agricultural Policy (CAP) on the various branches of the
agricultural sector in the four OECD member Central European Countries (CECs), i.e. the Czech Republic, Hungary, Poland and
the Slovak Republic. The estimation of the effect of the domestic sectoral policies harmonisation with the Common Agricultural
Policy (CAP) and its impact on the farming sector, consumers of agricultural commodities and taxpayers, is based on the data from
the OECD quantitative analysis of support to agriculture.
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– It reflects the level of support resulting from policies

(the CAP and the EU member-countries policies and
specific policies in CECs) and world market situation
(reflected by reference prices) in 1997–2001;

– It assumes that all the measures applied under the CAP
will be introduced in new member-countries, and that
the support from domestic policies will be equal to the
average level of support from domestic policies in the
EU member-countries;

– The volumes of production in the CECs will be at the
1997–2001 average;

– The ratios of exchange rates of CECs currencies and the
Euro are at the 1997–2001 average.
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Note: Negative figures in the table indicate the level by which the current support in CECs is lower compared with that provided in
EU, positive figures indicate the areas where the current level of support in CECs is already higher
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